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NUCLEAR STOCKPILE = THE LENGTH OF THE PAGE
This pag 286 bombs

ATOMOSPHERIC TESTS = THE LENGTH OF THE BLUE
This blue = 62 tests

UNDERGROUND = THE LENGTH OF THE RED
This red = 23 tests

e 'I 9 6 Nuclear Test-Ban Treaty, formally Treaty Banning

Nuclear Weapons Tests in the Atmosphere.

Please unfold the piece of string attached to the page to see a full comparison
30,665 BombS] 9 8 O between nuclear tests this year and the entire stockpile.

y NUCLEAR STOCKPILE BAR LENGTH WOULD BE 10 TIMES LONGER IF IT
WAS MEASURED IN THE SAME SCALE AS THE TESTS.
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